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KENSINGTON
REGNET CHRISTUS
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R =7 MATHEMATICS TEACHER ..
2012
Year 8
Mathematics — Assessment Task 2
Time allowed: 45 minutes

Directions to Candidates

* Show all working on the paper

* The questions are not of equal value, so make sure you spend the right
amount of time on each question

* Read each question carefully

* Check your answers at the end if you have time

* Calculators may be used

1 (a) number of planets in the solar system. ' —

1. Classify the following data according to whcther they are Categoncal Discrete or Contmuous.
(circle the correct response) . . LT

- . T —

(b) types of animals at Taronga Zoo. -

e ~ : R

(c) distance between the Earth and the Sun.’ B - g IS

The Angle Line ¥

Station am |am |am |am
Obmseland 745|8065]8.25] 845
Verfical Infersection 740 | 800 |80 840
Alterrmte Fonefiont gy | 7.53 [8.13 | 835 853

dep. | 753 |B.14 | 834 | 854

_|Reflex Comer - 7.56 |8.16 | 8.35] 8.56
Transvessal Valley | 802|822 | 842|002
Verfex Pedk 807|827 | 847 | 007
Revolution Bend 810|830 850|210
Wathsvifle 215|835 855|90.15

ar.
dep. | 816 | 836|856 016
Adjacent Hilt 2.18]838 858018

2. Are the following statements true or false for the table above? (circle the correct response)

i. The train leavmg Obtuseland at 8:05am arrives at Ad_]acent Hill at 8:58am C77-u{ e / £ /_yg)
ii. The time it takes to get from Reflex Corner to Transversal Valley is 6 minutes, @u e /Fq (re)

ifi. Ifyou caught the 8:49am train from Vertical Intersection you will arrive at Revolution Bend by a
quarter past 9. (Tf‘m e / Fals e)

~*» Good luck

ASSESSED Marks Total

OUTCOME

DS4.1. Constructs, reads, and interprets graphs, tables, charts :

DS4.2 and statistical information /26

Data Analysis and evaluation

M$S4.1 Uses Pythagoras Theorem in a variety of confext /18

Total: /44




3.-Which triangle is right angled?
Choose the correct answer

33om T

. 56 cm
65 om T0om
R YArAY 56 om Gz o
NOT TO SCALE.

40 cm

[T Triangle STU only. O Triangle VWX only

(3 Both Triangles. (O3  Neither Triangle.

|

4. Draw an arrow pointing to which side the hypotenuse is in the following right-angled triangle?
P

¥

R Q

5. Find the value of x in the triangle below (answer to the nearest whole number)

14 e

0
10cm 6om

6) Find the value of x.

7) Work out the value of x

———

-
-

4om

\ . - : 10cm

8. The Picture graph beiow outlines the Lomputer paios 1ot a siuau pusiness in 2002.

Graph 1 : Computer Sales in- 2002 \
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(a) Name the months with the same sales ﬁgu;és and give the number of sales

e —— — e — e
(b) G1ve the lowest sales month and sales




(c) Give a possible éxplanation why December would have the most number of sales:

.

(d) Calculate the Average amount of computer sales during the winter period.
: i

.

s

face

9) The Line Graph below shows the population of Daceyville over the period 1982 - 2000.
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() Give the population for the year 1992

(b) Give the year that may have had the population as 36000 _

(c) By how much has the population changed over the entire Jimg period?

Mark’s Income and Expenses balance (July — December)

Dollars {$)

b\LCle ~
Expenses

July Aug. Sep. Oct. Nov.

10) The column graph shows Mark’s Income and Expenses balance
a) In which month was the Expenses balance least?

b) What was the Income balance in August?
¢) In which month was the Expenses balance $207?

over a period of one month. '

Number of bedrosms
in recent property sales

0 2 4 6 B 10 12
Properties sold

N

a) What type of graph is this?

b) How many prbperties had 3 bedrooms?

11) Mr Bieber, a famous Real Estate agent, recorded the number of bedrooms in each property he sold ';

¢) What was the maximum number of bedrooms in any of these properties?

————

d) What percentage of the properties had 4 bedrooms?




12)

How tall is this'shed at its tallest point?

13) Calculate the Perimeter of this Triangle

10cm

14) A support for a flagpole is attached at a height of 3m and is fixed to the ground at a distance of
1.2 m from the base.

-
Not fo seate

Im

C
+12m>

Calculate the length of the support (marked x on the diagram).

.'__ o . » ‘_ /




1. Classify the following data according to whether they ate Categorical, Discrete or Continuous.
(circle the correct response) ’ ' '

(a) number of planets in the solar system. D \Scy Q‘\"ﬁ’, /

(b) types of animals at Taronga Zoo. (g} ‘WE\’O YiCA \ \/
(c) distance between the Earth and the Sun, C oty ous | @

The Angle Line  /

Station am fam [am |am
Obtuseland 745 8.05)8.25) R4S
Vertical Infersection | 740 {g00 | 820 | 5.40
Arernate Junction gy | 7.53 813 | 8.3 ] .53

dep 1 754 | 8.14 | 834 | 854

Reflex Corner 7.56 [8.16 | 8.35{ 8.56
Transversal Vialley 80282 842 002
Vertex Pedk 807 | 827 | 8471 9.07
Revolution Bend 8101830} 450|910
Wathsville am | 815|835 (855 0.15

dep. | 816|836 855} 0.16
Adjacent Hill 818|838 |858 (018

2. Are the following statements true or false for the table above? (circle the correct response) d
i, The train leaving Obtuseland at 8:05am arrives at Adjacent Hill at 8:58am (True /

fi. The time it takes to get from Reflex Corner to Transversal Valley is 6 minutes. / False)

iii. Ifyou caught the 8:49am train from Vertical Intersection you will arrive at Revolution Bend by a §

quarter past 9. / False) -
7B

3.-Which triangle is right angled?
Choose the correct answer

S 33cm T 4
65 cm 56 em Tcm
L A472S 56 cm o
NOT TO SCALE.
. U X w o

40 cm

/
[V} Triangle STU only. (] Triangle VWX only

(2 Both Triangles. (3D Neither Triangle.

_J@

4. Draw an arrow pointing to which side the hypotenuse is in the following right-angled triangle?

S0

P

¥

R Q

'| 6) Find the value of x.

5. Find the value of x in the triangle below (answer to the nearest whole number)
14 CoxEae?
v . x24T
X106+ 144:2A0

x Ja4o
CAE EBACEE

2518 Cnemvest wnole o)

NI,
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10eny
6cm




7) Work out the value of x
WII032061 4 1¢
> NERg=132
BT 1148012529
1. om

8. The Picture graph below outlines the Computer Sales for a small business in 2002.

Graph 1 : Computer Sales i 2002 \
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(a) Name the months with the same sales figures and give the number of sales .

Felrvavy ot Sedtempey” soid \Ceo\éc\mo’rer's.
, PTel A .

\

(b) Give the lgwest sales month and sales J
Av\\:\) SO\k OY\\ﬂ 40 " compurers.

7Y, 4

(c) Give a possible éxplanation why December would have the most number of sales:
v aalel be,_cheapty’ o it g close fo
Oy s “ounol Shops owe, &w\ o 10 gw@
5, , (

_{d) Calculate thé Average amount of computer sales during the winter perlod
ATh1Ss12852450-) Aveyade oyt of sailes
4502 150 A Wudker wois \S0.

9) The Line Graph below shows the population of Daceyville over the period 1982 —2000.
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(a) Give the population for the year 1992 A0, OC0

(b) Give the year that may have had the population as 36000 \O\O\Q‘, nll

(c) By how much has the population changed over the e%u/eégl\e perlgd? 30 OOO - \O\otfg -

The m\’)u\m\cvx nos  Incresed b\ﬁ @,000
peopit ovev 0. pewviatk of ¥ UES: e

(d) In which two-yéar period did the greatest increase in population occur?

In occuveol oekuten 10010 and 1992 - ,
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Mark’s Income and Ixpenses balance (July — December)

Dollars ($)

ExPRNSEs

July Aug. Sep. Oct. Nov. Dec.

10) The column graph shows Mark’s Income and Expenses balance

a) In which month was the Expenses balance least? QQ.\? Fembpey
b) What was the Income balance in August? 472
¢) In which month was the Expenses balance $207 DRT2\WWRY

11) Mr Bieber, a famous Real Estate agent, recorded the number of bedrooms in each property he sold
over a period of one month. :

Number of bedrosms
in recent property sales

Bedioms

3 s, ¥ i % btk i
0 2 4 6 & 10 12
Properties sold

&) What type of graph is this? A \00'\\r (/Sf Oh\p\’\

b) How many properties had 3 bedrooms? 5

12)

How tall is this'shed at its tallest point?
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13) Calculate the Perimeter of this Triangle

Tom
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¢) What was the maximum number of bedrooms in any of these properties?

4 u0S he  mowmum nuynpey of  beclvoons.

d) What percentage of the properties had 4 bedrooms? gl of '(‘)‘(O \?e\r\-\ es
GO
had 4 wedlvaoms.

14) A support for a flagpole is attached at a height of 3m and is fixed to the ground at a distance of

1.2 m from the base.
I~

[—y

3m

d
& 120 >

Nof to scale

Calculate the length of the support (marked x on the diagram).
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